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First case of 'virgin birth' has been found REHAF
in crocodile
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The egg was laid by an 18-year-old female American crocodile in Parque
Reptiliana in January 2018. The foetus inside was fully formed, but stillborn, so
didn't hatch. The mother was obtained by the reptile park when she was just two

years old and was kept apart from other crocodiles for her entire life.
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Because of this, the park scientific team contacted US researchers from Virginia
Polytechnic, which specialises in such virgin births, known scientifically as
parthenogenesis. They analysed the foetus and found that it was more than 99.9

percent genetically identical to its mother, confirming that it had no father.
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Research team hypothesises that this ability was inherited from a common
evolutionary ancestor, suggesting that dinosaurs may also have been capable of

reproducing in this way.
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1. Why didn't the crocodile egg hatch?

2. Why did scientists believe the crocodile foetus had no father?
3. Which other creatures could have reproduced by themselves?

4. Where does the research team think this ability to self-reproduce was
inherited from?
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1. Why didn't the crocodile egg hatch?

The foetus inside the egg was fully formed, but stillborn.

2. Why did scientists believe the crocodile foetus had no father?

Scientists found that the foetus was more than 99.9 percent genetically
identical to its mother, confirming that it had no father.

3. Which other creatures could have reproduced by themselves?
It's possible dinosaurs may also have been capable of reproducing in this way.

4. Where does the research team think this ability to self-reproduce was
inherited from?

Research team hypothesises that this ability was inherited from a common
evolutionary ancestor.

Media English ©British Broadcasting Corporation 2023
bbclearningenglish.com/chinese Page3of 3



